

Progress Estimate 8	Number	Contract ID Prime Contract	220121-D04 or E & C Bridge,		y Period Start y Period End	June 16, 20 June 30, 20	022 <b>Ne</b>	riginal Contract Amount et Change Order Amount urrent Contract Amount	\$1,408,489.55 \$0.00 \$1,408,489.55
Approval Date									By User
June 30, 2022			Generated and A	Approved (	and should be o	considered D	raft) at	the Project Office Level by	bashoa1
June 30, 2022		Resident Engineer Level by	grahac1						
July 5, 2022		Controllers Office Level by	ramses1						
Original Completio	n Date	Current Com	pletion Date Actual Completion Date				%	nt Complete	
December 1, 20	Decembe	er 1, 2022				99.39%			
	Contract	Informational Dat	es Mileston			lestones			
Date Description	Original	Completion Date	Current Comple	tion Date	No Milestone	s Exist for Co	ontract		
Acceptance Date									
Awarded Date	February	2, 2022	February 2, 2022						
Letting Date	January 2	21, 2022	January 21, 2022						
Notice to Proceed Date	February	17, 2022	February 17, 202	2					
Open to Traffic Date									
Work Began Date	March 7,	2022	March 7, 2022						

Contract Total Pay F	or Estimate No. 8				
		This Estimate	Previous	To Date	
220121-D04					
	Total Posted Items Pay	\$187,754.30	\$1,212,096.25	\$1,399,850.55	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$1,212,096.25	\$1,399,850.55	
Contract Total Payat	ole This Estimate:	\$187,754.30			

### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J5S3283	0020	2121000A	SUBGRADING AND SHOULDERING CLASS 1	100F	\$1,500.000	1	\$1,500.00		
	0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$14.500	256	\$3,712.00		
	0040	4019905	MISC.Optional Pavement	SQYD	\$90.000	256	\$23,040.00		
	0050	6069901	MISC.MGS GUARDRAIL CONNECTOR PLATE	LS	\$8,735.000	1	\$8,735.00		
	0170	6181000	MOBILIZATION	LS	\$21,500.000	1	\$21,500.00		
	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$1,500.000	1	\$1,500.00		
	0270	8061019	SILT FENCE	LF	\$2.900	270	\$783.00		
	0290	2162500	REMOVAL OF EXISTING BRIDGE DECK	SQFT	\$8.000	1,135.75	\$9,086.00		
	0300	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$215.000	114	\$24,510.00		
	0310	7034212	SLAB ON STEEL	SQYD	\$250.000	226.35	\$56,587.50		
	0320	7034219A	TYPE D BARRIER	LF	\$80.000	316	\$25,280.00		
	0360	7151001	VERTICAL DRAIN AT END BENTS	EA	\$1,800.000	2	\$3,600.00		
Project J5S32	283 - Total						\$179,833.50		
J5S3348	0560	8059901	MISC.SEEDING - COOL SEASON MIXTURE	LS	\$5,250.000	1	\$5,250.00		
	0610	8064129	TYPE 2 TURF REINFORCEMENT MAT	SQYD	\$2.200	964	\$2,120.80		
	0650	9031010	CONCRETE FOOTINGS, EMBEDDED	CUYD	\$2,750.000	0.2	\$550.00		
Project J5S3	348 - Total						\$7,920.80		
Overall - Total									



5	,									
Progress Estimate Number 8	Contract ID Prime Contractor	220121-D04 E & C Bridge, LLC		,	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,408,489.55 \$0.00 \$1,408,489.55				
Contract Adjustments This Estima	te									
No Contract Adjustments Exist on Contract										
Line Item Adjustments This Estima	ate									

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3283	0040	MISC.	Material			-256	\$90.00	(\$23,040.00
	0040	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	256	\$90.00	\$23,040.00
	0050	MISC.	Material			-1	\$8,735.00	(\$8,735.00)
	0050	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	1	\$8,735.00	\$8,735.00
	0220	CONTROL GEOTEXTILE This adjustment offsets the original system   220 PERMANENT EROSION Material			-1,775	\$3.00	(\$5,325.00	
	0220	PERMANENT EROSION CONTROL GEOTEXTILE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user bashoa1 overridding Payment Estimate Exception 8 on the current Payment Estimate.	1,775	\$3.00	\$5,325.00
	0270	SILT FENCE	Overrun			-70	\$2.90	(\$203.00)
	0270	SILT FENCE	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user bashoa1 overridding Payment Estimate Exception 18 on the current Payment Estimate.	70	\$2.90	\$203.00
	0300	BRIDGE APPROACH SLAB (MINOR ROAD)	Material			-114	\$215.00	(\$24,510.00
	0300	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	114	\$215.00	\$24,510.00
	0320	TYPE D BARRIER	Material			-316	\$80.00	(\$25,280.00
	0320	TYPE D BARRIER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	316	\$80.00	\$25,280.00
	0340	GRAY EPOXY-MASTIC PRIMER	Material			-1	\$7,866.00	(\$7,866.00)
	0340	GRAY EPOXY-MASTIC PRIMER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user bashoa1 overridding Payment Estimate Exception 16 on the current Payment Estimate.	1	\$7,866.00	\$7,866.00
J5S3348	0520	20 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS				-1,010	\$0.50	(\$505.00)
	0520	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0012) due to user bashoa1 overridding Payment Estimate Exception 6 on the current Payment Estimate.	1,010	\$0.50	\$505.00
	0530	4 IN. YELLOW STANDARD	Material			-1,010	\$0.50	(\$505.00)



Prog	ress Es	stimate Number 8	Contract I Prime Cor		0121-D04 & C Bridge, LL		June 16, 2022 June 30, 2022	Net Cha	Contract Ar nge Order A Contract An	mount \$0	,408,489.55 .00 ,408,489.55	
Project lumber	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type	Com	ments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
5S3348		WATERBORNE F MARKING PAIR										
	0530	4 IN. YELLOW S WATERBORNE F MARKING PAIR	PAVEMENT	Material		This adjustment offs generated Material Adjustment (001 overridding Payment E the cur	ate Item bashoa1	1,010	\$0.50	\$505.00		
	0590	S	BILT FENCE	Overrun		Averaged Price Adjus all previous payment e		00000' is	-20	\$2.90	(\$58.00	
	0590	S	BILT FENCE	Overrun		This adjustment offs generated Overrun Adjustment (000 overridding Paymen on the cur	20	\$2.90	\$58.00			
	0610	TY REINFORCE	PE 2 TURF	Material					-964	\$2.20	(\$2,120.80	
	0610	TY REINFORCE	This adjustment offs generated Material Adjustment (001 overridding Paymen on the cur	Payment Estim 4) due to user	bashoa1 ption 17	964	\$2.20	\$2,120.80				
	0710			DRILLED SHAFTS (3 FT. 6 IN. DIA.) Overrun Averaged Price Adjustment from this item or all previous payment estimates of '0.00000' is applied (if non-zero)					-6	\$900.00	(\$5,400.00	
	0710	DRILLED SHAF	DRILLED SHAFTS (3 FT. 6 Overrun IN. DIA.) OVER IN. DIA. DIA.) OVER IN. DIA.) OVER IN. DIA.) OVER IN. DIA.) OVER IN		bashoa1 ption 20	6	\$900.00	\$5,400.00				
	0720	ROCK SOCKETS	(3 FT 0 IN. DIA.)	Overrun		Averaged Price Adjus all previous payment e		00000' is	-2	\$825.00	(\$1,650.00	
	0720	ROCK SOCKETS	(3 FT 0 IN. DIA.)	Overrun		This adjustment offs generated Overrun Adjustment (000 overridding Paymen on the cur	Payment Ĕstim )4) due to user	ate Item bashoa1 eption 21	2	\$825.00	\$1,650.00	
	0760		RUCTURAL LES (12 IN)	Overrun		Averaged Price Adjus all previous payment e		00000' is	-13	\$125.00	(\$1,625.00	
	0760	GALVANIZED STR STEEL PI	RUCTURAL LES (12 IN)	Overrun		This adjustment offs generated Overrun Adjustment (000 overridding Paymen on the cur	Payment Ĕstim )5) due to user	bashoa1	13	\$125.00	\$1,625.00	
	0800	SLAB ON CON	CRETE NU- GIRDER	Material					-190.455	\$320.00	(\$60,945.60	
	0800								hate Item bashoa1 eption 11	190.455	\$320.00	\$60,945.60
	0820		ING STEEL (BRIDGES)	Material					-12,220	\$1.50	(\$18,330.00	
	0820	REINFORC	Material		This adjustment offs generated Material Adjustment (001 overridding Paymen	Payment Estim 6) due to user	ate Item bashoa1	12,220	\$1.50	\$18,330.00		



Progr	ress Es	timate Number 8	Contract ID Prime Cont		20121-D04 & C Bridge, LLC	Pay Period Start Pay Period End	,				\$1,408,489.55 \$0.00 \$1,408,489.55	
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	Comments			Adjustment Quantity	Line Item Adjustmen Unit Price	t amount	
J5S3348						on the cu	urrent Payment E	stimate.				
Total											\$0.00	



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
J5S3283		Bridge deck replacement	100	OSAGE	over Deer Creek 4 miles west of Chamois							
J5S3348		Bridge replacement	100	OSAGE	over Cedar Creek 0.1 Miles south of Route C in Luystown							

#### Totals by Job Numbers

3283	This Estimate	Previous	To Date
Posted Item Pay	\$179,833.50	\$309,975.50	\$489,809.00
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$179,833.50	\$309,975.50	\$489,809.00
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00
3348	This Estimate	Previous	To Date
Posted Item Pay	\$7,920.80	\$902,120.75	\$910,041.55
Gross Item Adjustments	\$0.00	\$0.00	\$0.00
Gross Item Pay	\$7,920.80	\$902,120.75	\$910,041.55
	\$0.00	\$0.00	\$0.00
Incentive			
Disincentive	\$0.00	\$0.00	\$0.00
	\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 4019905, Project Item Line Number 0040, Material Set 401990596, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action 0501CCPAQCQA Pavement is insufficient.	Bashoa1: QC QA to enter test results at a later date for breaks.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 5031011A, Project Item Line Number 0300, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	Bashoa1: Modot Materials to enter test data at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 5031011A, Project Item Line Number 0300, Material Set 5031011A96, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Bashoa1: QC QA to enter test results at a later date for breaks.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 5031011A, Project Item Line Number 0300, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	Bashoa1: QC QA to enter test results at a later date for breaks.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 6069901, Project Item Line Number 0050, Material Set 6069901 - MISC., Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	Bashoa1: Modot Materials to enter test results at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 6206000C, Project Item Line Number 0520, Material Set 6206000C96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Bashoa1: Visual inspection performed and accepted awaiting materials to fix sample.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 6206001C, Project Item Line Number 0530, Material Set 6206001C96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Bashoa1: Visual inspection performed and accepted awaiting materials to fix sample.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 6240103A, Project Item Line Number 0220, Material Set 6240103A96, Material 1011GXT3 - Geotextile Fabric for ErosionControl(T3), Acceptance Action Generic 1011GXT3 is insufficient.	Bashoa1: Awaiting materials to enter sample	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 7032003, Project Item Line Number 0780, Material Set 703200396, Material 0501CCBA - Concrete, Class B w/Air, Acceptance Action Generic 0501CCBA is insufficient.	Bashoa1: Awaiting materials to fix sample.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 7034219A, Project Item Line Number 0320, Material Set 7034219A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Bashoa1: QC QA to enter test at 7 days.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 7034221, Project Item Line Number 0800, Material Set 703422196, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Bashoa1: Awaiting materials to fix sample.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 7061060, Project Item Line Number 0820, Material Set 706106096, Material 1036RSDFPL42M36 - Reinforcing Steel No. 11/M36 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Bashoa1: awaiting Modot to enter test at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 7061060, Project Item Line Number 0820, Material Set 706106096, Material 1036RSDFPL42M32 - Reinforcing Steel No. 10/M32 Gr 60/M420@, Acceptance Action Generic ReSteelBars is insufficient.	Bashoa1: awaiting Modot to enter test at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 7061060, Project Item Line Number 0820, Material Set 706106096, Material 1036RSDFPL42M29 - Reinforcing Steel No. 9/M29 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Bashoa1: awaiting Modot to enter test at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 7061060, Project Item Line Number 0820, Material Set 706106096, Material 1036RSDFPL42M22 - Reinforcing Steel No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Bashoa1: awaiting Modot to enter test at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3283, Item 7125961, Project Item Line Number 0340, Material Set 712596196, Material 1045PTGREPMA - Gray Epoxy-Mastic Primer, Acceptance Action Generic 1045PTGREPMA is insufficient.	Bashoa1: awaiting Modot to enter test at a later date.	bashoa1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3348, Item 8064129, Project Item Line Number 0610, Material Set 806412996, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	Bashoa1: awaiting Modot to enter test at a later date.	bashoa1	Overridden
Estimate Exception Type: Item Overrun: Contract 220121-D04, Contract Project J5S3283, Project Item Line Number 0270, Contract Line Item Number 0270, Item 8061019, Minor Item.	Bashoa1: Modot change order item.	bashoa1	Overridden
Estimate Exception Type: Item Overrun: Contract 220121-D04, Contract Project J5S3348, Project Item Line Number 0590, Contract Line Item Number 0590, Item 8061019, Minor Item.	Bashoa1: Modot change order item.	bashoa1	Overridden
Estimate Exception Type: Item Overrun: Contract 220121-D04, Contract Project J5S3348, Project Item Line Number 0710, Contract Line Item Number 0710, Item 7011105, Minor Item.	Bashoa1: Modot change order item.	bashoa1	Overridden
Estimate Exception Type: Item Overrun: Contract 220121-D04, Contract Project J5S3348, Project Item Line Number 0720, Contract Line Item Number 0720, Item 7011204, Minor Item.	Bashoa1: Modot change order item.	bashoa1	Overridden
Estimate Exception Type: Item Overrun: Contract 220121-D04, Contract Project J5S3348, Project Item Line Number 0760, Contract Line Item Number 0760, Item 7021212, Minor Item.	Bashoa1: Modot change order item.	bashoa1	Overridden



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract	Project	Category	Line	Item	eport Generated date and can differ from the posted amo Description	Bid	Net	Total	Unit	Total	Unit Price	Total Value POSTED
Nm.CONTRACT	No.		No.	Code		Quantity	Change Order	Current Quantity		Posted Approved Qty		To Date (See report generated date)
220121-D04	J5S3283	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000.00
		0001	0020	2121000A	SUBGRADING AND SHOULDERING CLASS 1	1.00	0.00	1.00	100F	1.00	\$1,500.00	\$1,500.00
		0001	0030	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	256.00	0.00	256.00	SQYD	256.00	\$14.50	\$3,712.00
		0001	0040	4019905	MISC.Optional Pavement	256.00	0.00	256.00	SQYD	256.00	\$90.00	\$23,040.00
		0001	0050	6069901	MISC.MGS GUARDRAIL CONNECTOR PLATE	1.00	0.00	1.00	LS	1.00	\$8,735.00	\$8,735.00
		0001	0060	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	1.00	0.00	1.00	CUYD	0.00	\$500.00	\$0.00
		0001	0070	6096041	PLACING TYPE 1 ROCK DITCH LINER	1.00	0.00	1.00	CUYD	0.00	\$500.00	\$0.00
		0001	0080	6113020	FURNISHING TYPE 2 ROCK BLANKET	2,474.00	0.00	2,474.00	CUYD	2,474.00	\$48.00	\$118,752.00
		0001	0090	6113040		2,474.00	0.00	2,474.00	CUYD	2,474.00	\$18.00	\$44,532.00
		0001	0100	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0110	6161005		370.00	0.00	370.00	SQFT	297.00	\$7.00	\$2,079.00
		0001	0120	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$45.00	\$90.00
		0001	0130	6161010	RELOCATED SIGNS	25.00	0.00	25.00	SQFT	0.00	\$6.00	\$0.00
		0001	0140	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$145.00	\$1,450.00
		0001	0150	6161052	WARNING LIGHT, TYPE B	20.00	0.00	20.00	EA	12.00	\$85.00	\$1,020.00
		0001	0160	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$21,500.00	\$21,500.00
		0001	0180	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$400.50	\$0.00
		0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	596.00	0.00	596.00	LF	0.00	\$1.00	\$0.00
		0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	596.00	0.00	596.00	LF	0.00	\$1.00	\$0.00
		0001	0210	6214600A	FLOWABLE BACKFILL	20.00	0.00	20.00	CUYD	20.00	\$250.00	\$5,000.00
		0001	0220	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,775.00	0.00	1,775.00	SQYD	1,775.00	\$3.00	\$5,325.00
		0001	0230	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,500.00	\$1,500.00
		0001	0240	8059901	MISC.SEEDING - COOL SEASON IXTURE	1.00	0.00	1.00	LS	0.00	\$5,250.00	\$0.00
		0001	0250	8061005	ROCK DITCH CHECK	56.00	0.00	56.00	LF	0.00	\$14.00	\$0.00
		0001	0260	8061016	SEDIMENT REMOVAL	16.00	0.00	16.00	CUYD	0.00	\$8.00	\$0.00
		0001	0270	8061019	SILT FENCE	200.00	0.00	200.00	LF	270.00	\$2.90	\$783.00
		0070	0280	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	14.00	0.00	14.00	SQFT	14.00	\$175.00	\$2,450.00
		0070	0290	2162500	REMOVAL OF EXISTING BRIDGE DECK	4,543.00	0.00	4,543.00	SQFT	4,543.00	\$8.00	\$36,344.00
		0070	0300	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	114.00	0.00	114.00	SQYD	114.00	\$215.00	\$24,510.00
		0070	0310	7034212	SLAB ON STEEL	503.00	0.00	503.00	SQYD	503.00	\$250.00	\$125,750.00
		0070	0320	7034219A	TYPE D BARRIER	316.00	0.00	316.00	LF	316.00	\$80.00	\$25,280.00
		0070	0330	7125102	SURFACE PREPARATION FOR APPLYING EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$7,866.00	\$7,866.00
		0070	0340	7125961	GRAY EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$7,866.00	\$7,866.00
		0070	0350	7126000	NON-DESTRUCTIVE TESTING	45.00	0.00	45.00	LF	45.00	\$25.00	\$1,125.00
		0070	0360	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$1,800.00	\$3,600.00
	Project J	5S3283 - To	otal Value	Posted to D	Date as of Report Generated Date							\$489,809.00
	J5S3348	0001	0370	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$12,000.00	\$12,000.00
		0001	0380	2031000	CLASS A EXCAVATION	285.00	0.00	285.00	CUYD	285.00	\$15.00	\$4,275.00
		0001	0390	2035500	EMBANKMENT IN PLACE	180.00	0.00	180.00	CUYD	180.00	\$25.00	\$4,500.00
		0001	0400	2036000	COMPACTING EMBANKMENT	246.00	0.00	246.00	CUYD	246.00	\$10.00	\$2,460.00
		0001	0410	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	263.00	0.00	263.00	SQYD	263.00	\$12.50	\$3,287.50
		0001	0420	4019905	MISC.OPTIONAL PAVEMENT	262.60	0.00	262.60	SQYD	262.60	\$90.00	\$23,634.00
		0001	0430	6113020	FURNISHING TYPE 2 ROCK BLANKET	538.00	0.00	538.00	CUYD	538.00	\$45.00	\$24,210.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Value	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the	time the	Estimate w	as Gene	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220121-D04	J5S3348	0001	0440	6113040	PLACING TYPE 2 ROCK BLANKET	538.00	0.00	538.00	CUYD	538.00	\$15.00	\$8,070.00
		0001	0450	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.00
		0001	0460	6161005	CONSTRUCTION SIGNS	1,155.00	0.00	1,155.00	SQFT	1,141.00	\$6.00	\$6,846.00
		0001	0470	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$45.00	\$90.00
		0001	0480	6161030	TYPE III MOVEABLE BARRICADE	8.00	0.00	8.00	EA	8.00	\$145.00	\$1,160.00
		0001	0490	6161052	WARNING LIGHT, TYPE B	16.00	0.00	16.00	EA	16.00	\$85.00	\$1,360.00
		0001	0500	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
		0001	0510	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$32,500.00	\$0.00
		0001	0511	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$23,605.00	\$23,605.00
		0001	0520	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,010.00	0.00	1,010.00	LF	1,010.00	\$0.50	\$505.00
		0001	0530	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,010.00	0.00	1,010.00	LF	1,010.00	\$0.50	\$505.00
		0001	0540	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	806.00	0.00	806.00	SQYD	806.00	\$3.00	\$2,418.00
		0001	0550	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$2,400.00	\$2,400.00
		0001	0560	8059901	MISC.SEEDING - COOL SEASON MIXTURE	1.00	0.00	1.00	LS	1.00	\$5,250.00	\$5,250.00
		0001	0570	8061005	ROCK DITCH CHECK	165.00	0.00	165.00	LF	26.00	\$14.00	\$364.00
		0001	0580	8061016	SEDIMENT REMOVAL	31.00	0.00	31.00	CUYD	0.00	\$8.00	\$0.00
		0001	0590	8061019	SILT FENCE	180.00	0.00	180.00	LF	200.00	\$2.90	\$580.00
		0001	0600	8061050	TYPE C BERM	198.00	0.00	198.00	LF	198.00	\$15.00	\$2,970.00
		0001	0610	8064129	TYPE 2 TURF REINFORCEMENT MAT	964.00	0.00	964.00	SQYD	964.00	\$2.20	\$2,120.80
		0010	0620	6061060	MGS GUARDRAIL	75.00	0.00	75.00	LF	75.00	\$36.95	\$2,771.25
		0010	0630	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,735.00	\$14,940.00
	0010	0640	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,485.00	\$13,940.00	
		0040	0650 9031010	CONCRETE FOOTINGS, EMBEDDED	0.20	0.00	0.20	CUYD	0.20	\$2,750.00	\$550.00	
		0040	0660	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	6.00	0.00	6.00	LF	6.00	\$325.00	\$1,950.00
		0070	0670	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	16.00	0.00	16.00	SQFT	16.00	\$175.00	\$2,800.00
		0070	0680	2061000	CLASS 1 EXCAVATION	70.00	0.00	70.00	CUYD	70.00	\$45.00	\$3,150.00
		0070	0690	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	1.00	\$37,500.00	\$37,500.00
		0070	0700	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	118.00	0.00	118.00	SQYD	118.00	\$225.00	\$26,550.00
		0070	0710	7011105	DRILLED SHAFTS (3 FT. 6 IN. DIA.)	54.80	0.00	54.80	LF	60.80	\$900.00	\$54,720.00
		0070	0720	7011204	ROCK SOCKETS (3 FT 0 IN. DIA.)	44.00	0.00	44.00	LF	46.00	\$825.00	\$37,950.00
		0070	0730	7011300	VIDEO CAMERA INSPECTION	4.00	0.00	4.00	EA	4.00	\$900.00	\$3,600.00
		0070	0740	7011400	FOUNDATION INSPECTION HOLES	84.00	0.00	84.00	LF	84.00	\$100.00	\$8,400.00
		0070	0750	7011600	SONIC LOGGING TESTING	4.00	0.00	4.00	EA	4.00	\$1,300.00	\$5,200.00
		0070	0760	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	164.00	0.00	164.00	LF	177.00	\$125.00	\$22,125.00
		0070	0770	7026000	PRE-BORE FOR PILING	152.00	0.00	152.00	LF	152.00	\$100.00	\$15,200.00
		0070	0780	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	54.40	0.00	54.40	CUYD	54.40	\$800.00	\$43,520.00
		0070	0790	7034219A	TYPE D BARRIER	439.00	0.00	439.00	LF	439.00	\$80.00	\$35,120.00
		0070	0800	7034221	SLAB ON CONCRETE NU-GIRDER	645.00	0.00	645.00	SQYD	645.00	\$320.00	\$206,400.00
		0070	0810	7056021	NU 35, PRESTRESSED CONCRETE NU-GIRDER	599.00	0.00	599.00	LF	599.00	\$310.00	\$185,690.00
		0070	0820	7061060	REINFORCING STEEL (BRIDGES)	12,220.00	0.00	12,220.00	LB	12,220.00	\$1.50	\$18,330.00
		0070	0830	7123610		38.00	0.00	38.00	EA	38.00	\$400.00	\$15,200.00
		0070	0840	7151001		2.00	0.00	2.00	EA	2.00	\$1,800.00	\$3,600.00
		0070	0850	7161000		6.00	0.00	6.00	EA	6.00	\$175.00	\$1,050.00
		0070	0860	7161002	LAMINATED NEOPRENE BEARING PAD	12.00	0.00	12.00	EA	12.00	\$190.00	\$2,280.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220121-D04	J5S3348	0001	5001	6189901	MISC.New Adjustment Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$8,895.00	\$8,895.00
	Project J	5S3348 - To	otal Value	Posted to D	ate as of Report Generated Date							\$910,041.55
220121-D04 Ove	rall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$1,399,850.55



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line	Item		Description	DWR	DWR	Quantity	Units			Location	F	rom	Offset/	То	Offset/		Comments	
Number	Code			Date	Approval Date	I Posted					Sta	ation/ g Mile	Distance	Station/ Log Mile	Distance			
			SHOULDERING CLASS 1		6/30/22	1.00						17+21		420+18.93				
0030		MISC.	TE FOR BASE (4 IN. THICK)	6/22/22		256.00						+21.00	420+18.93	419+78.88				
0050		MISC. GUARDRAIL	ITEM	6/30/22		1.00		North Oodd	End of bridg	10		17+86	420110.33	419+53				
0170	6181000	MOBILIZATION		6/29/22	6/30/22	1.00	LS				417+	+21.00						
0230			RNISHED SURVEYING AND STAKI		6/29/22	1.00						+91.00						
0270	8061019 2162500	SILT FENCE	TING BRIDGE DECK	6/28/22		270.00		Rt Lt CL 42	0+00			20+00						
0300			H SLAB (MINOR ROAD)	6/22/22		114.00		North South	ends of brid	lge		+71.00		419+68.93				
0310		SLAB ON STEEL			6/29/22	226.35		Bridge Decl		•		+91.00		419+48.93				
0320		TYPE D BARRIER		6/27/22	6/29/22	316.00	LF	Rt. Lt CL			4	17+91		419+48.93				
0360	7151001	VERTICAL DRAIN A	T END BENTS	6/20/22	6/29/22	2.00	EA	North South	ends of brid	lge .	4	17+19		419+48.93				
Project:	J5S3348																	
Line Number	Item Code		Description	DWR Date	DWR Approval Date	Quantity Posted	Units		L	ocation	Fro Stati Log M	ion/	Offset/ Distance	To Station/ Log Mile	Offset/ Distance		Comments	
		MISC. SEEDING		6/29/22	6/30/22	1.00	LS	Rt Lt CL			279+1	9.04		284+23.93				
		TYPE 2 TURF REINF					SQYD				279+1			284+23.93				
		CONCRETE FOOTIN		6/29/22			CUYD				279+6	54.49						
Project	Line Numb		details for Construction Sig Total Quantity Posted For DWR Da		-	<b>e).</b> In Informatio	n	Station	Log Mile	Location	Number of	Items	SF Each Si	gn	Special	Sign	SF Each Special Sign	Total SF to Pos
	0460	March 7, 2022	1071	See	Special Sig	gn Details			.021		1.00			Specia	I Detour sign	ns 36x78 50E	19.50	19.
					Special Sig				.029		1.00				*	ns 36x78 50c	19.50	19.
					Special Sig				99.485 96.500		1.00					ns 36x78 50F	19.50	19.
					Special Sig				96.416		1.00				9	15 36x78 50F	19.50	19.5
					Special Sig				.056		1.00					ns 36x78 50F	19.50	19.5
					Special Sig				.323		1.00			Specia	I Detour sign	ns 36x78 50H	19.50	19.5
				WO AHE	20-2 48x AD	48 16.00 [	ETOUR		0.000		1.00		16					16
				See	Special Sig	gn Details			0.095		1.00			Specia	I Detour sign	ns 36x78 50G	19.50	19.5
					20-3 48x SED AHEA		ROAD		1.909		1.00		16					16
				See	Special Sig	gn Details			10.456		1.00			Specia	I Detour sign	ns 36x78 50H	19.50	19.5
				See	Special Sig	gn Details			10.461		1.00			Specia	I Detour sign	ns 36x78 50G	19.50	19.5
				WO AHE	20-2 48x EAD	48 16.00 [	ETOUR		10.490		1.00		16					16
				CLC	-3a 60x3 SED XX M	ILES AHEA	DAD D LOCA	L	103.400		1.00		12.5					12.5
				See	Special Sig	gn Details			107.833		1.00			Specia	I Detour sign	ns 36x78 50F	19.50	19.5
					Special Sig				11.314		1.00			Specia	I Detour sign	ns 36x78 50F	19.50	19.
				CLC	-3a 60x3 SED XX M FFIC ONLY	ILES AHEA	DAD D LOCA	L	111.037		1.00		12.5					12.
					Special Sig				114.000		1.00			Specia	I Detour sign	ns 36x78 50F	19.50	19.5
				CLC	-3a 60x3 SED XX M FFIC ONL	IILES AHEA	DAD D LOCA	L	114.000		1.00		12.5					12.1
				CLC	-3a 60x3 SED XX M	i0 12.50 R IILES AHEA Y	DAD D LOCA	L	115.600		1.00		12.5					12.1
				CLC	20-3 48x SED AHEA	AD.			117.000		1.00		16					1
				CLC	-3a 60x3 SED XX M FFIC ONLY	ILES AHEA		L	117.035		1.00		12.5					12.
				WO	20-3 48x SED AHEA	48 16.00 F AD	ROAD		117.050		1.00		16					16
				R3- TUF	1 48x48 RN (SYMBO	16.00 NC DL)	RIGHT		117.267		1.00		16					1
				(SY	2 48x48 MBOL)			JRN	117.267		1.00		16					16
				R11 CLC	-2 48x30 DSED	0 10.00 R	DAD		117.267	On closure barricades	2.00		10					2
				CLC	-3a 60x3 SED XX M	ILES AHEA	DAD D LOCA	L	118.036		1.00		12.5					12.5
				R11 CLC	-3a 60x3 SED XX M	0 12.50 R		L	120.088		1.00		12.5					12.
					Special Sig				13.599		1.00			Specia	I Detour sign	ns 36x78 50F	19.50	19.1
					Special Sig				16.313		1.00			Specia	I Detour sign	ns 36x78 50F	19.50	19.5
				WO AHE	20-2 48x EAD	48 16.00 [	ETOUR		160.116		1.00		16					10
				See	Special Sig	gn Details			160.273		1.00			Specia	I Detour sign	ns 36x78 50A	19.50	19.5
					Special Sig				164.659		1.00					ns 36x78 50A	19.50	19.5
					Special Sig				165.290		1.00					ns 36x78 50c	19.50	19.
					Special Sig				165.472 17.601		1.00					ns 36x78 50E ns 36x78 50I	19.50	19.
					Special Sig				17.817		1.00					ns 36x78 501	19.50	19.
				See	Special Sig	gn Details			17.817		1.00			Specia	I Detour sign	ns 36x78 50J	19.50	19.
					Special Sig				18.090		1.00			Specia	I Detour sign	ns 36x78 50J	19.50	19.5
					Special Sig				2.149		1.00					ns 36x78 50A	19.50	19.
					Special Sig				22.264		1.00					ns 36x78 50A	19.50	19.5
				0/	Special Sig				23.126		1.00			Cnori-		ns 36x78 50A	19.50	



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

# The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

ect	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Pos
348	0460	March 7, 2022	1071	See Special Sign Details		27.196		1.00		Special Detour signs 36x78 50A	19.50	19.
				See Special Sign Details		29.602		1.00		Special Detour signs 36x78 50A	19.50	19.5
				See Special Sign Details		3.275		1.00		Special Detour signs 36x78 50F	19.50	19.
				See Special Sign Details		31.237		1.00		Special Detour signs 36x78 50A	19.50	19.5
				See Special Sign Details		34.031		1.00		Special Detour signs 36x78 50A	19.50	19.5
				See Special Sign Details		35.288		1.00		Special Detour signs 36x78 50A	19.50	19.5
				See Special Sign Details		36.064		1.00		Special Detour signs 36x78 50A	19.50	19.5
				See Special Sign Details		4.136		1.00		Special Detour signs 36x78 50A	19.50	19.
				See Special Sign Details		6.059		1.00		Special Detour signs 36x78 50F	19.50	19.5
				See Special Sign Details		8.657		1.00		Special Detour signs 36x78 50F	19.50	19.
				See Special Sign Details		9.651		1.00		Special Detour signs 36x78 50F	19.50	19.5
				WO20-2 48x48 16.00 DETOUR AHEAD		96.176		1.00	16			10
				See Special Sign Details		96.338		1.00		Special Detour signs 36x78 50B	19.50	19.5
		June 13, 2022	70	See Special Sign Details		115.631		1.00		Const-5 96x48	32.00	32
				MO4-8a 24x18 3.00 END DETOUR		101.567		1.00	3			5
				See Special Sign Details		0.014	RT C AND A	1.00		MO4-13 96X48	32.00	3:
				MO4-8a 24x18 3.00 END DETOUR		38.693		1.00	3			:



Jul 6, 2022

ect	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
283	0040	MISC.	Material		8	Jun 30, 2022	SYSTEM	\$23,040.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$23,040.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0040 -	Total						\$0.00	
	0050	MISC. GUARDRAIL ITEM	Material		8	Jun 30, 2022	SYSTEM	\$8,735.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$8,735.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0050 -	Total						\$0.00	
	0220	PERMANENT EROSION CONTROL	Material		7	Jun 16, 2022	SYSTEM	\$5,325.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bashoa1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		GEOTEXTILE			7	Jun 16, 2022	SYSTEM	(\$5,325.00)	
					8	Jun 30, 2022	SYSTEM	\$5,325.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bashoa1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$5,325.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0220 -	Total						\$0.00	
	0220 - Total 0270 SILT FENCE		Overrun	Overrun	8	Jun 30, 2022	SYSTEM	\$203.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user bashoa1 overridding Payment Estimate Exception 18 on the current Payment Estimate.
					8 Jun 30, SYS 2022		SYSTEM	(\$203.00)	
				Overrun - T	otal			\$0.00	
			Overrun - Tota	ıl				\$0.00	
	0270 -	Total						\$0.00	
	0300	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		8	Jun 30, 2022	SYSTEM	\$24,510.00	This adjustment offerster the existing least on a sector d Material Desmant
									This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$24,510.00)	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment
				- Total	8	Jun 30,	SYSTEM	(\$24,510.00) \$0.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment
			Material - Tota		8	Jun 30,	SYSTEM	(, , ,	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment
	0300 -	Total	Material - Tota		8	Jun 30,	SYSTEM	\$0.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment
	0300 - 0310	Total SLAB ON STEEL	Material - Tota Construction Stockpile		8 7	Jun 30,	SYSTEM	\$0.00 \$0.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment
			Construction			Jun 30, 2022 Jun 16,		\$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction	l - Total	7	Jun 30, 2022 Jun 16,		\$0.00 \$0.00 \$0.00 (\$20,780.00)	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			Construction Stockpile	l - Total	7	Jun 30, 2022 Jun 16,		\$0.00 \$0.00 \$0.00 (\$20,780.00) (\$20,780.00)	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction Stockpile Construction Stockpile STMA	- Total Stockpile - To - Total	7 tal 6	Jun 30, 2022 Jun 16, 2022 Jun 2, 2022	SYSTEM	\$0.00 \$0.00 \$0.00 (\$20,780.00) (\$20,780.00) (\$20,780.00)	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction Stockpile	- Total Stockpile - To - Total	7 tal 6	Jun 30, 2022 Jun 16, 2022 Jun 2, 2022	SYSTEM	\$0.00 \$0.00 (\$20,780.00) (\$20,780.00) (\$20,780.00) \$20,780.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction Stockpile Construction Stockpile STMA	- Total Stockpile - To - Total	7 tal 6	Jun 30, 2022 Jun 16, 2022 Jun 2, 2022	SYSTEM	\$0.00 \$0.00 (\$20,780.00) (\$20,780.00) (\$20,780.00) \$20,780.00 \$20,780.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction Stockpile Construction Stockpile STMA Construction S	- Total Stockpile - To - Total	7 tal 6 //A - Total	Jun 30, 2022 Jun 16, 2022 Jun 2, 2022 Jun 16,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$20,780.00) (\$20,780.00) \$20,780.00 \$20,780.00 \$20,780.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction Stockpile Construction Stockpile STMA Construction S	- Total Stockpile - To - Total	7 tal 6 MA - Total 7	Jun 30, 2022 Jun 16, 2022 Jun 2, 2022 Jun 16, 2022	SYSTEM	\$0.00 \$0.00 (\$20,780.00) (\$20,780.00) (\$20,780.00) \$20,780.00 \$20,780.00 \$20,780.00 \$20,780.00	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
I			Construction Stockpile Construction Stockpile STMA Construction S	- Total Stockpile - To - Total Stockpile STI	7 tal 6 MA - Total 7	Jun 30, 2022 Jun 16, 2022 Jun 2, 2022 Jun 16, 2022	SYSTEM	\$0.00 \$0.00 (\$20,780.00) (\$20,780.00) (\$20,780.00) \$20,780.00 \$20,780.00 \$20,780.00 (\$69,162.50) (\$69,162.50)	Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J5S3283	0320	TYPE D BARRIER	Material	Туре	8	Jun 30, 2022	SYSTEM	\$25,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment
					8	Jun 30, 2022	SYSTEM	(\$25,280.00)	Estimate Exception 10 on the current Payment Estimate.
				- Total		2022		\$0.00	
			Material - Tota					\$0.00	
	0320 -	Total						\$0.00	
	0340	GRAY EPOXY- MASTIC PRIMER	Material		7	Jun 16, 2022	SYSTEM	\$7,866.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user bashoa1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					7	Jun 16, 2022	SYSTEM	(\$7,866.00)	
					8	Jun 30, 2022	SYSTEM	\$7,866.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bashoa1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$7,866.00)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	0340 -	Total						\$0.00	
J5S3283	- Total							\$0.00	
J5S3348	0410	TYPE 5 AGGREGATE FOR BASE	Material		5	May 17, 2022	SYSTEM	\$3,287.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user bashoa1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	May 17, 2022	SYSTEM	(\$3,287.50)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0410 -	Total						\$0.00	
	0420	MISC.	Material		5	May 17, 2022	SYSTEM	\$23,634.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					5	May 17, 2022	SYSTEM	(\$23,634.00)	
					6	Jun 2, 2022	SYSTEM	\$23,634.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user bashoa1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jun 2, 2022	SYSTEM	(\$23,634.00)	
					7	Jun 16, 2022	SYSTEM	\$23,634.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user bashoa1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Jun 16, 2022	SYSTEM	(\$23,634.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0420 -	Total						\$0.00	
	0520	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		7	Jun 16, 2022	SYSTEM	\$505.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		WAKKING			7	Jun 16, 2022	SYSTEM	(\$505.00)	
					8	Jun 30, 2022	SYSTEM	\$505.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user bashoa1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$505.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0520 -	Total						\$0.00	
	0530	4 IN. YELLOW WATERBORNE PAVEMENT	Material		7	Jun 16, 2022	SYSTEM	\$505.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate.



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3348	0530	MARKING	Material		7	Jun 16, 2022	SYSTEM	(\$505.00)	
					8	Jun 30, 2022	SYSTEM	\$505.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user bashoa1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$505.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0530 -	Total						\$0.00	
	0570	ROCK DITCH CHECK	Material		2	Apr 5, 2022	SYSTEM	\$364.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user bashoa1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					2	Apr 5, 2022	SYSTEM	(\$364.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0570 -	Total						\$0.00	
	0590	SILT FENCE	Material		1	Mar 16, 2022	SYSTEM	(\$580.00)	
				- Total				(\$580.00)	
			Material - Tota	I				(\$580.00)	
			MaterialCredit		2	Apr 5, 2022	SYSTEM	\$580.00	
				- Total		1		\$580.00	
			MaterialCredit	- Total				\$580.00	
			Overrun	Overrun	1	Mar 16, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 200.000; Overrun Quantity Balance 20.00.
					1	Mar 16, 2022	SYSTEM	(\$58.00)	
					2	Apr 5, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					2	Apr 5, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					3	Apr 18, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	Apr 18, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user bashoa1 overridding Payment Estimate Exception 10 on the current Payment Estimate.
					4	May 2, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	May 2, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user bashoa1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					5	May 17, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	May 17, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user bashoa1 overridding Payment Estimate Exception 15 on the current Payment Estimate.
					6	Jun 2, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Jun 2, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user bashoa1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					7	Jun 16, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					7	Jun 16, 2022	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user bashoa1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$58.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					8	Jun 30,	SYSTEM	\$58.00	This adjustment offsets the original system-generated Overrun Payment



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3348	0590	SILT FENCE	Overrun	Overrun		2022			Estimate Item Adjustment (0002) due to user bashoa1 overridding Payment Estimate Exception 19 on the current Payment Estimate.
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0590 -	Total						\$0.00	
	0600	TYPE C BERM	Material		2	Apr 5, 2022	SYSTEM	\$1,500.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user bashoa1 overridding Payment Estimate Exception 16 on the current Payment Estimate.
					2	Apr 5, 2022	SYSTEM	(\$1,500.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0600 -	Total						\$0.00	
	0610	TYPE 2 TURF REINFORCEMENT MAT	Material		8	Jun 30, 2022	SYSTEM	\$2,120.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user bashoa1 overridding Payment Estimate Exception 17 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$2,120.80)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0610 -	Total						\$0.00	
	0700	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		5	May 17, 2022	SYSTEM	\$26,550.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	May 17, 2022	SYSTEM	(\$26,550.00)	
			- Total					\$0.00	
			Material - Tota					\$0.00	
	0700 -	Total						\$0.00	
	0710	DRILLED SHAFTS (3 FT. 6 IN. DIA.)	Material		2	Apr 5, 2022	SYSTEM	\$54,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bashoa1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					2	Apr 5, 2022	SYSTEM	(\$54,720.00)	
					3	Apr 18, 2022	SYSTEM	\$54,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user bashoa1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Apr 18, 2022	SYSTEM	(\$54,720.00)	
					4	May 2, 2022	SYSTEM	\$54,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user bashoa1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	May 2, 2022	SYSTEM	(\$54,720.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
			Overrun	Overrun	2	Apr 5, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 60.800; Overrun Quantity Balance 6.00.
					2	Apr 5, 2022	SYSTEM	(\$5,400.00)	
					3	Apr 18, 2022	SYSTEM	(\$5,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					3	Apr 18, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) overridding Payment Estimate Exception 11 on the current Payment Estimate. Material Insufficiency Quantity 60.800; Overrun Quantity Balance 6.00.
					4	May 2, 2022	SYSTEM	(\$5,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	May 2, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 10 on the current Payment Estimate. Material Insufficiency Quantity 60.800; Overrun Quantity Balance 6.00.



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks						
J5S3348	0710	DRILLED SHAFTS (3 FT. 6 IN. DIA.)	Overrun	Overrun	5	May 17, 2022	SYSTEM	(\$5,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					5	May 17, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user bashoa1 overridding Payment Estimate Exception 16 on the current Payment Estimate.						
					6	Jun 2, 2022	SYSTEM	(\$5,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					6	Jun 2, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user bashoa1 overridding Payment Estimate Exception 10 on the current Payment Estimate.						
					7	Jun 16, 2022	SYSTEM	(\$5,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					7	Jun 16, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 17 on the current Payment Estimate.						
					8	Jun 30, 2022	SYSTEM	(\$5,400.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					8	Jun 30, 2022	SYSTEM	\$5,400.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user bashoa1 overridding Payment Estimate Exception 20 on the current Payment Estimate.						
				Overrun - T	otal			\$0.00							
	0740	T. (.)	Overrun - Tota	l				\$0.00							
	0710 - 0720	ROCK SOCKETS	Material		2	Apr 5,	SYSTEM	\$0.00 (\$37,950.00)							
		(3 FT 0 IN. DIA.)		- Total		2022		(\$37,950.00)							
			Material - Tota	l				(\$37,950.00)							
			MaterialCredit		3	Apr 18, 2022	SYSTEM	\$37,950.00							
				- Total				\$37,950.00							
			MaterialCredit - Total					\$37,950.00							
			Overrun	Overrun	2	Apr 5, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 19 on the current Payment Estimate. Material Insufficiency Quantity 46.000; Overrun Quantity Balance 2.00.						
					2	Apr 5, 2022	SYSTEM	(\$1,650.00)							
					3	Apr 18, 2022	SYSTEM	(\$1,650.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					3	Apr 18, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment Estimate Exception 12 on the current Payment Estimate.						
					4	May 2, 2022	SYSTEM	(\$1,650.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
									4	May 2, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user bashoa1 overridding Payment Estimate Exception 11 on the current Payment Estimate.		
					5	May 17, 2022	SYSTEM	(\$1,650.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					5	May 17, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user bashoa1 overridding Payment Estimate Exception 17 on the current Payment Estimate.						
							6 Jun 2, 2022 SYSTEM (\$1,650.00) Averaged Price Adjustment from thin of '0.00000' is applied (if non-zero).   6 Jun 2, 2022 SYSTEM \$1,650.00 This adjustment offsets the original Estimate Item Adjustment (0005) di	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).							
													6		SYSTEM
						7	Jun 16, 2022	SYSTEM	(\$1,650.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).					
					7	Jun 16, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 18 on the current Payment Estimate.						
					8	Jun 30, 2022	SYSTEM	(\$1,650.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).						
					8	Jun 30, 2022	SYSTEM	\$1,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user bashoa1 overridding Payment						



ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
348	0720	ROCK SOCKETS	Overrun	Overrun					Estimate Exception 21 on the current Payment Estimate.			
		(3 FT 0 IN. DIA.)		Overrun - T	otal			\$0.00				
			Overrun - Tota					\$0.00				
	0720 -	Total						\$0.00				
	0760	GALVANIZED STRUCTURAL STEEL PILES (12	Material		2	Apr 5, 2022	SYSTEM	\$22,125.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 7 on the current Payment Estimate.			
		IN			2	Apr 5, 2022	SYSTEM	(\$22,125.00)				
				- Total				\$0.00				
			Material - Tota	I				\$0.00				
			Overrun	Overrun	2	Apr 5, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) overridding Payment Estimate Exception 20 on the current Payment Estimate. Material Insufficiency Quantity 177.000; Overrun Quantity Balance 13.00.			
					2	Apr 5, 2022	SYSTEM	(\$1,625.00)				
					3	Apr 18, 2022	SYSTEM	(\$1,625.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
					3	Apr 18, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user bashoa1 overridding Payment Estimate Exception 13 on the current Payment Estimate.			
					4	May 2, 2022	SYSTEM	(\$1,625.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
					4	May 2, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user bashoa1 overridding Payment Estimate Exception 12 on the current Payment Estimate.			
					5	May 17, 2022	SYSTEM	(\$1,625.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
					5	May 17, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user bashoa1 overridding Payment Estimate Exception 18 on the current Payment Estimate.			
								6	Jun 2, 2022	SYSTEM	(\$1,625.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					6	Jun 2, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment Estimate Exception 12 on the current Payment Estimate.			
					7	Jun 16, 2022	SYSTEM	(\$1,625.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
					7	Jun 16, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user bashoa1 overridding Payment Estimate Exception 19 on the current Payment Estimate.			
					8	Jun 30, 2022	SYSTEM	(\$1,625.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).			
					8	Jun 30, 2022	SYSTEM	\$1,625.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user bashoa1 overridding Payment Estimate Exception 22 on the current Payment Estimate.			
				Overrun - T	otal			\$0.00				
			Overrun - Tota	I				\$0.00				
	0760 -	Total				_		\$0.00				
	0780	CLASS B CONCRETE (SUBSTRUCTURE)	Material		2	Apr 5, 2022	SYSTEM	\$9,920.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user bashoa1 overridding Payment Estimate Exception 8 on the current Payment Estimate.			
					2	Apr 5, 2022	SYSTEM	(\$9,920.00)				
				- Total				\$0.00				
			Material - Tota	I				\$0.00				
	0780 -	Total						\$0.00				
	0800	SLAB ON CONCRETE NU- GIRDER	Material		3	Apr 18, 2022	SYSTEM	\$41,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 3 on the current Payment Estimate.			
					3	Apr 18, 2022	SYSTEM	(\$41,280.00)				
					4	May 2, 2022	SYSTEM	\$103,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user bashoa1 overridding Payment			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
J5S3348	0800	SLAB ON	Material						Estimate Exception 3 on the current Payment Estimate.	
		CONCRETE NU- GIRDER			4	May 2, 2022	SYSTEM	(\$103,200.00)		
					5	May 17, 2022	SYSTEM	\$60,945.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bashoa1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	
					5	May 17, 2022	SYSTEM	(\$60,945.60)		
					6	Jun 2, 2022	SYSTEM	\$60,945.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
					6	Jun 2, 2022	SYSTEM	(\$60,945.60)		
					7	Jun 16, 2022	SYSTEM	\$60,945.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user bashoa1 overridding Payment Estimate Exception 10 on the current Payment Estimate.	
					7	Jun 16, 2022	SYSTEM	(\$60,945.60)		
					8	Jun 30, 2022	SYSTEM	\$60,945.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user bashoa1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	
					8	Jun 30, 2022	SYSTEM	(\$60,945.60)		
				- Total				\$0.00		
			Material - Tota	I				\$0.00		
	0800 -	Total						\$0.00		
	0810	NU 35, PRESTRESSED	Construction Stockpile		3	Apr 18, 2022	SYSTEM	(\$94,080.21)	Payment Estimate Item Adjustment generated Stockpile Transaction	
		CONC NU-GIRDER		- Total				(\$94,080.21)		
			Construction	Stockpile - To	otal			(\$94,080.21)		
			Construction Stockpile STMI		1	Mar 16, 2022	SYSTEM	\$94,080.21	Payment Estimate Item Adjustment generated Stockpile Transaction	
				- Total				\$94,080.21		
			Construction	Stockpile STI	Al - Total			\$94,080.21		
	0810 -	Total						\$0.00		
	0820	REINFORCING STEEL (BRIDGES)	Material		2	Apr 5, 2022	SYSTEM	\$11,452.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user bashoa1 overridding Payment Estimate Exception 11 on the current Payment Estimate.	
						2				
						Apr 5, 2022	SYSTEM	(\$11,452.50)		
					3		SYSTEM	(\$11,452.50) \$18,330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
						2022 Apr 18,			Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment	
					3	2022 Apr 18, 2022 Apr 18,	SYSTEM	\$18,330.00	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment	
					3 3	2022 Apr 18, 2022 Apr 18, 2022 May 2,	SYSTEM SYSTEM	\$18,330.00 (\$18,330.00)	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment	
					3 3 4	2022 Apr 18, 2022 Apr 18, 2022 May 2, 2022 May 2,	SYSTEM SYSTEM SYSTEM	\$18,330.00 (\$18,330.00) \$18,330.00	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment	
					3 3 4 4	2022 Apr 18, 2022 Apr 18, 2022 May 2, 2022 May 2, 2022 May 17,	SYSTEM SYSTEM SYSTEM SYSTEM	\$18,330.00 (\$18,330.00) \$18,330.00 (\$18,330.00)	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment	
					3 3 4 4 5	2022 Apr 18, 2022 Apr 18, 2022 May 2, 2022 May 2, 2022 May 17, 2022 May 17,	SYSTEM SYSTEM SYSTEM SYSTEM	\$18,330.00 (\$18,330.00) \$18,330.00 (\$18,330.00) \$18,330.00	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment	
					3 3 4 4 5 5	2022 Apr 18, 2022 May 2, 2022 May 2, 2022 May 2, 2022 May 17, 2022 May 17, 2022 Jun 2,	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$18,330.00 (\$18,330.00) \$18,330.00 (\$18,330.00) \$18,330.00 (\$18,330.00)	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate.	
					3 3 4 5 5 6	2022 Apr 18, 2022 Apr 18, 2022 May 2, 2022 May 2, 2022 May 17, 2022 May 17, 2022 Jun 2, 2022	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$18,330.00 (\$18,330.00) \$18,330.00 (\$18,330.00) \$18,330.00 (\$18,330.00) \$18,330.00	Estimate Item Adjustment (0010) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user bashoa1 overridding Payment Estimate Exception 4 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user bashoa1 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate.	



Jul 6, 2022

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3348	0820	REINFORCING STEEL (BRIDGES)	Material		8	Jun 30, 2022	SYSTEM	\$18,330.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user bashoa1 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					8	Jun 30, 2022	SYSTEM	(\$18,330.00)	
				- Total				\$0.00	
			Material - Tota	ı				\$0.00	
	0820 -	Total						\$0.00	
	0830	SLAB DRAIN	Material		4	May 2, 2022	SYSTEM	\$15,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user bashoa1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					4	May 2, 2022	SYSTEM	(\$15,200.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0830 ·	· Total						\$0.00	
	0850	PLAIN NEOPRENE BEARING PAD	Material		3	Apr 18, 2022	SYSTEM	\$1,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user bashoa1 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					3	Apr 18, 2022	SYSTEM	(\$1,050.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0850 ·	Total						\$0.00	
	0860	LAMINATED NEOPRENE BEARING PAD	Material		3	Apr 18, 2022	SYSTEM	\$2,280.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user bashoa1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					3	Apr 18, 2022	SYSTEM	(\$2,280.00)	
				- Total				\$0.00	
			Material - Tota	d				\$0.00	
	0860 -	Total						\$0.00	
J5S3348 ·	- Total							\$0.00	
Overall -	Total							\$0.00	